| abed

&

/
é
A

Uy

) ()

{
L

i

TYEJIOINNIN OY3-H0S3L

ZvA 01d3d1v SN 3N

MW
T 2NN ZIANDUVYA 73
YIGNEQISIHd

IVIDINNA Ol 134038

01SEn) |9 [}
95°290'/5V'LL$ v LEB'THS v LE6'THS 00°000°005°LL$ 00°0$ 00°000°005'L LS ' salopesioye A saiopnap e sofode o epnap ‘olaloueul 0jso)
eoueq e] ap salopeloye
A salopnap e sofode o epnap ‘claloueuly 0}son
opezijelapa4 0}se)
opezi|eiapad oljseq) ap sewelbold
GG'EL9'LG0'0ES 0E'TLT'LLITLS SP'G96'885'CLS 00'645'0¥9'crS 0008 00°645'0+9'chS uonssB e| ap ojusiwesolew |e A eolgnd ugiouny e e oAody
ofody ep A soapensiuiwpy
ojuawoy A uopowold

LLALLPES

6¥°09€'L6Z'E9LS B7'9EL'B6T LIS 15'909'68€'21$ 00'/96'989'G/L$ 00'85L'60L'LY$ 00'80¢'LL6'CELS

95'015'889'e2% 0€'LEZ'BEG VS 1°'682'9.0'6$ 00'962'59.'82% 00'0$ 00'962'69.'92$
¥8'00Z'LLP'ELS SE'LZL'0EY'ES 91'662'/85'ES 00°005'850°21L% 00°0$ 00°006'850'LL$ seal|qnd seanljod ep uoloenjeas A cjusiwinbas ‘ugloesueld
97'8.0'926'5¥% £2'%10'600'Z}S #5¥50'vS9'TLS 00°€€1'085'85% 00'0% 00°¢€}'085'85% $021|gNd SsolaInag ap ugloelsald
sauolound se| ap ouadwasaqg
#0'2£9'969'GS 96'¥66'292$ 96'v66'292$ 00°/Z9'656'5$ 00'568'v9.$ 00°ZEL'VBL'SS uoloeladQ ap se|bay e sojalng
soidiaiungy A seanelspad
sopepijug 0 opeAlld A [B120S 10}995 (solpisqng
seweiboid
(p-g)=9 g 4 (Z+1)=¢ z L o3dsouoy
{sauoidonpay}
opo1aisfegng opebed opebuaaag opeayipop 1 ssuojoejdwy opeqoidy
sosalbg
0d soseibgo1sandnsaiopeidids -day

‘Wee L) | uoisaidwi ap eloy

i gzoz/lewyLe [V ggoz/2us/Lo 12d
eopewelboid eliobajen Jod oises
NVLVIONA 30 O4vLs3
NINIZLL 3a OIdIJINNKN




